Monthly averaged wind velocity by MF radar at Tromsoe for September 2002

North

mean sigma = 19.868

e

3
g
=

©
~
>
3
o

E .
=
<
o m?mm

mean sigma = 20.602

500
501
-100E
0 4 8 12 16 20 0
mean sigma = 18.682
100F ]
505 E
O#WW/\W — :
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 19.238
100F ]
-100E E
0 4 8 12 16 20 0
mean sigma = 21.081
100F ]
50 -3
0: ,,,,, - v oo oY ,,,,,,,,,,,,7:
-50F E
-100E 3
0 4 8 12 16 20 0
mean sigma = 20.795
100F E|
50 3
-100E E
0 4 8 12 16 20 0
mean sigma = 17.534
100F E
50 =
-50 E
-100E E
0 4 8 12 16 20 0

o
o

(&)
o o
o HHWEW

-100

East

mean sigma = 26.399

o
o

&
S

E
©
o
>
3

mean sigma = 22.117

100 3
50 *;

0 :
-50 é
-100 Bl
4 8 12 16 20 0

mean sigma = 20.762

100
50

-50

:

£y
©
~
>
8
o

mean sigma = 19.367

a o
o O

=
=

-

50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 20.415
100 F
50
op
501
-100E
0 4 8 12 16 20 0
mean sigma = 20.489
100 F E|
50 -3
0k :
-50F E
-100E E|
0 4 8 12 16 20 0
mean sigma = 21.418
100F E|
50 3
-100E 3
0 4 8 12 16 20 0
mean sigma = 19.404
100 F E|
50 =
-50F E
-100E 3
0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km



Monthly averaged wind velocity by MF radar at Tromsoe for September 2002
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